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RIART= W 617 264 353 Kg |EE 1,080 248 2,160 216
BB\ 1,790 1,790 Kg 1,566 532
BEEIZED 535 535| Kg 1,728 324
RAROL® 98 63 35| Kg |&&&S 864 248 2,484 648
=IETH 178 39 139] Kg |EBRES 1,404 1,188 2,700 540
BTz 3 1 2| Keg |EE 1,944 1,620 4,320 1,296
l3H 542 148 394 Kg |7&BS 1,944 79 3,780 540
PHIEE 59 38 21| Kg |EE 756 324 648
7=Z 623 320 303 Kg |EE 2,000 1,080 2,376 1,296
HIESC 1 1| Kg 3,834
gl 21 211 Kg 47,520 2,919
BRO 110 110] Kg 10,800 4,000
BEDAED 268 268 Kg 2,160 1,404
WhL 715 715 Kg 1,404 216
W L 165 165 Kg 351 216
Hd L 847 847 Kg 540 281
xE 576 576 Kg 960 216
ANeFo) 415 40 375 Kg |#AEku 432 1,512 216
ERALIAV) 155 155] Kg 1,037 432
FA WD 325 325 Kg |RIE 3,510 1,080
BB 311 311 Kg 1,998 1,100
{AHELCA 217 217 Kg |RIE 3,240 3,121
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252|LWAEXECA 70 70 Kg 2Pl 1,728

254|EDT2ELCAH 709 709 Kg 2P 1,998 1,080
303[A 27z 27 27 Kg R 900 648
305|xAah>0b 7 7l Kg =) 3,672 2,700
315|7: B9 6 29 29 Kg = I 3,456 1,620
319|h o 236 236 Kg £ - L 2,484 1,188
332|113 WA =EF 134 134] Kg Bl = 2,160 1,944
3bl{HHV 10 5 5[ Kg [3&E 3,780 FE 19,440 17,280
35411FxE<Y 90 65 25| Kg |FFE 1,620 1,296|F% 1,836 1,512
355(mp Y 165 20 1451 Kg |= 1,296 972|=%E - HEH 1,620 600
356(L L& 35 35 Kg SER 1,080 972
357|7RE 4 41 Kg = 3,888

358|KE 5 5| Kg FAN 1,728

362|Hh & 9 9] Kg BJE 1,620 1,404
401|H W 51 51| Kg Iz & 2,160 1,728
4025 5 &E 15 15| Kg A0 5,454 3,780
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RN L 270 270 Kg F 1,400 864
AEBRA AT 163 163| Kg 3 1,740 473
BRECEZV 26 26| Kg 73 2,160 1,560
S WA AR 50 50| Kg JtF 950 820
i 49 491 Kg Eles 1,296 972
MR Z 186 186 Kg 3 2,500 650
R MM 10 10| Kg F 4,000

AR 175 1751 Kg JtF 1,000
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70110 BA 1,926 1,782 144 Kg |EE 2,320 842| k& 1,620 1,134
71019 2 ®HA0F 48 481 Kg =N 1,530 1,260
BlBEFALANIN 9 9] Kg FJE 1,103
755(Fd L 20 201 Kg B 710
56| £ 9 5 5] Kg RIE 1,588
7611 b BHAEL 18 18 Kg EE 2,314 2,160
801|BHL =T 122 1221 Kg ¥ - A 1,728 1,080
8041 % 9 16 16 Kg blo ] 1,080
805 = 1E 804 804 Kg bF 1,058 497
810|FAKXF 11 11 Kg B =2 2,700 2,638
815|—9 A ZE 10 10 Kg gl 1,194
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